Scenario 1 (Warning ! Time is not to scale.) Scenario 2 (Warning ! Time is not to scale.)
- \4p - N4b
N2b N2b
- \3p - B - \3p -—3
N1 N1
@ N2 ™ t3-db @ N2 == t3-db
N3 N3
- N4 - - N4 -— )
™ t2-db == t2-db
- tl —_— tl
™ tl-db == ti-db
- 0 / - 0
Pop 2 Pop 3 Pop 4 Pop 1 Pop 3 Pop 2 Pop 4 Pop 1
Scenario 3 (Warning ! Time is not to scale.) Scenario 4 (Warning ! Time is not to scale.)
- \4p - N4b
N2b N2b
- \3p - B - \3p -—3
N1 N1
@ N2 ™ t3-db @ N2 == t3-db
N3 N3
- N4 - - N4 -— )
™ t2-db == t2-db
- tl —_— tl
™ tl-db == ti-db

Pop 3 Pop 2 Pop 4 Pop 1 Pop 2 Pop 3 Pop 4 Pop 1
Scenario 5 Scenario 6
N1 N2 N3 N4 N1 N2 N3 N4
0 sample 1 0 sample 1
0 sample 2 0 sample 2
0 sample 3 0 sample 3
0 sample 4 0 sample 4
tlsplit341ra tlsplit24 1ra
t2split24 1ra t2split34 1ra
t3-db VarNe 4 N4b t3-db VarNe 4 N4b
t3merge 1 4 t3merge 1 4




Scenario 7 (Warning ! Time is not to scale.) Scenario 8 (Warning ! Time is not to scale.)
- N4h - N4b
@® N3b @ N2b
- Np - B - N -3
N2 N2
@& N3 @& N3
= t3-db = t3-db
N4 N4
—-— t2 - t2
ra l-ra ra lra
—-— tl - tl
= ti-db = t1-db
L] 0 - 0
Pop 4 Pop 3 Pop 2 Pop 1 Pop 4 Pop 2 Pop 3 Pop 1
Scenario 9 (Warning ! Time is not to scale.)
- N4h
@ N2b
- \3p T B
N1
@ N2 = t3-db
N3
- N4 -—
- 12-db
—-— tl
= ti-db
L] 0
Pop 2 Pop 4 Pop 3 Pop 1






